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Chapter 6 Grab Bag Questions

@Solve the system below for x, y and z.
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2. /Fin%téhe equation of the parabola passing through the three points (2, 81), (7, 6), and (10, 33).
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@Solve the equation for x. Round to three decimal places. 694‘2 4‘2¢ 4 /63
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Solve the equations below for x. Round to three decimal places.
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Find the inverse of the equations below. Use function notation and determine if the inverse isa  function. '
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@Fur each of the following pairs of functions, determine f(g(x)) and g( f(x)), then use the result
to decide whether or not f{x) and g(x) are inverses of each other.
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The graph of y =logx is shown at right. Use this “pare
to graph each of the following equations. Explain how you get

your new graphs.
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9. Solve the equations for x.
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10. lify the rational expressions below.
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12.
Pizza Planet sells three sizes of combination pizzas.
50
Small (8" diameter) $8.50 ?3 . ’@)
A Medium (10" diameter) $11.50 /0,11:6%)
by OX 1bxt Large (13" diameter) s1750 (/3,17.50)

Assume that the price of the pizza can be modeled with a quadratic function, with the price
dependent on the diameter of the pizza. Use the information to write three data points, and
determine an equation represemmg the data points. If Pizza Planet is considering selling an
Extra Large combination pxua with an 18" diameter, what should such a pizza cost? If they
wanted to sell a combination pizza for $50.00, how big would it have to be to fit with the rest of

the price data for the pizzas? 3/ . ‘
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